WORKSHEET 6
BEST POLICY

NAME:


State your problem (from #4 in Worksheet 1)

	


Look at your three policies from Worksheet #5.  Write a very short phrase to summarize each policy

	Solution 1


	

	Solution 2


	

	Solution 3


	


Estimate how effective and feasible each of the three policies will be. (Circle High, Medium, or Low on each line for the three policies).

	Solution 1:
	

	Feasibility
	HIGH
	MEDIUM
	LOW

	Effectiveness
	HIGH
	MEDIUM
	LOW


	Solution 2:
	

	Feasibility
	HIGH
	MEDIUM
	LOW

	Effectiveness
	HIGH
	MEDIUM
	LOW


	Solution 3:
	

	Feasibility
	HIGH
	MEDIUM
	LOW

	Effectiveness
	HIGH
	MEDIUM
	LOW


Explain your reasons for choosing High, Medium or Low
	Solution 1:
	Reasons

	
	


	Solution 2:
	Reasons

	
	


	Solution 3:
	Reasons

	
	








